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=Year 11                       =Calculus                       =Worksheet 4
	1. Use calculus to find the local maximum point of the graph of 
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	2. Find the maximum and minimum values of 
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	3. Refer to Q2. Sketch the graph of f, showing the turning points, x and y-intercepts and end points.
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	4. Sketch the graph of
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, showing the stationary point(s) and x-intercept(s).

	5. Find the equation of the tangent parallel to the chord joining the points at
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 on the parabola 
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	6. Find b and c such that the gradient of 
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	7. Find a and c such that 
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 can be joined smoothly at 
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	8. Find the antiderivative of (i) 
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  (ii) 
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	9. Find 
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, where a, b are constants and 
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	10. Find
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	11. Sketch a family of three curves having the same gradient function 
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	Numerical, algebraic and worded answers.



1.  (−1, 7)


2.  162, (27


3.  ((2, 98), (3, (27)


     (1.5, 0), (3(2, 0)


     ((3, 81), (6, 162)


4.  ((1, (1), (0, 0)


5.  y = x ( 5.75


6.  b = (6, c = 6


7.  a = (1, c = 5


8.  (i) x3/6 (7x + c


     (ii) (3x(1 + 3(2x + c


9.  a(xn+1)/(n+1)+b(xn+2)/(n+2)+c


10. f(x)= (x3 + x2 + x ( 1
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